|D21-13
?>r < ‘T';-s

£¢H= B -9

/——j
£ (ax-D= 3N 5
Gr-3-5
Gy-8&
'F(-r(x\) = (‘By-S)
(-8
Gx-\1S-5S
SN

Lx)= %= o o= 2%+

g ('F(\l\) 9 ( ?y-\o)
=( 3*-‘0\ +
= (ox=20|
= Gx-\9

W= %
g(X)' Y = 5

h(gG) = h(x-6x (¥ 9
"\( - loy+aD

g( A= 9 W)~ ¥*-5






v e -4—_“'\ t:l'l\

I €™ bx-l whet

s :-L>M ‘F‘(\&

@ Chenye Fix) e Y
v= bx-|

@ 'F‘:p yovr Y end y.
X= (oy- |

® Selve Feor V-
Y~ ‘ys/"‘

>\ +\

Xl =G
T of

_ ¥+

Y* "6

S %
R SN G %‘

Foad Tanerse oFf {(x\: ?Y_+|

£ (0= ax-2,



[O-2)- 13
L*“ _Tf-'j
£l = '3;«- | 5lx)= Sx -

F o)) = F(5%-2)
A+ |

16x-6+|
lex-5

5¢ 4(“\’ j('Sy.-\-l\

5(3x41) -2

[D%x+5-2
15% +3

h(x)= )(1 J(y): )(—3

h (d &)= h( %-3)

= ()
Y-+ T

d(ht)- 4 (¥3)

- x1 — '3
g(\n'ax hCy) = Syl A=y 1|
g(h( 40~ 5 (A (=)

J
5(’3%-\-0""

Bx+5-]
9 (15)(-’-‘()

'-'RUSX-»\-\)
20X + €



£fix)= Sx-4

".‘(X) e— [avVarse 0% Fuaetiva
@‘Q\ul:g—g
- x_
y= 5%
@ Switeh $Le X asd th= Y

X"sy-"l

Fiad the inurse o
£Cx)= % + joo

@ Y= Z y100

@ X= L 4o
=lee ____<=loaa_

- X _.
‘2()( |o<»- L z
AX-A00 = Y
o f' ) = Qx-R00

Fiad invs-3e o £

FUx)= X*+ 3
@ y=x*3



	Page 1: Oct 21-10:36 AM
	Page 2: Oct 21-10:54 AM
	Page 3: Oct 21-11:01 AM
	Page 4: Oct 21-11:26 AM
	Page 5: Oct 21-11:43 AM

